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Ol b g a ew  F(X)=ax+b 1eaclall fix) oLsYl dasite olass |, (16)
izio glody « 7 52 (-2, 8) abaaill aic fX) oLVl crimial Guloall Jio OIS 1)
woislz] o 0LV 13z 52608 3215 (0, 18) alasill sic y jgmall ol 8Vl

f'(x)=ax+Dbf(x)=[(ax+b)dx=a2x2+bx+C

F'(-2) = 7 tolize 7 g0 (-2, 8) abasidl sic 0,18l Lrizmiod ol Juof
F(-2) = 8 sy

f(0) =18 :olizo (0, 18) alasidl sie 9ol glasy yl,i8Yl izioy

f(-2)=7=a(-2)+b=7=-2a+b=7............ f(—2)=8=a2(-2)2+b(-2)+C
=8=2a—-2b+C=8............ f(0)=18=a2(0)2+b(0)+C=18=C=18

ole Lamis (2) ableoll 8 aasd jogeiC
2a-2b+18=8 = 2a-2b=-10

ole Lamis (4) 5 (1) publeall 8,k goxs

b =3 :uls Laxis (4) aboleadl 9 aaud jodsia

o syl sacls
fix)=-x*+3x + 18

0lSs  (100X2—4) 190 fx) 0Lyl wimial gulasll Jso OIS 15] 555 (16)
LYl 13 526l 350 . a > 0 1w (g, 10) abasdl s a> > alasi s\

f(x)=4-100x2f(x)=J(4-100x2)dx=/(4-100x-2)dx=4x+100x-1+C=

o7 lgio 1/2



A
talaia ¥ % lell uSasll ol
wilall ulsill & sio 57‘:'().\%'5. o )*S-m-l Jl-q-o

4x+100x+C
fla) = 10 dsSg f'(a) = 0:05] (g, 10) xic a>,> aasi ol xMf
f(a)=0=4-100a2=0=4=100a2=4a2=100=a2=25=a=%5
f(5) =10 aiog .a =5:93 oHa>0
10=4(5)+1005+C=C=-30
robidY sacls 09
f(x)=4x+100x-30
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